

Harmonic Numbers of Any Order and the Wolstenholme's-Type Relations for Harmonic Numbers

Edyta Hetmaniok, Piotr Lorenc, Mariusz Pleszczyński, Michał Różański, Marcin Szweda and Roman Wituła

Abstract The concept of harmonic numbers has appeared permanently in the mathematical science since the very early days of differential and integral calculus. Firsts significant identities concerning the harmonic numbers have been developed by Euler (see Basu, Ramanujan J, 16:7–24, 2008, [1], Borwein and Bradley, Int J Number Theory, 2:65–103, 2006, [2], Sofo, Computational techniques for the summation of series, 2003, [3], Sofo and Cvijovic, Appl Anal Discrete Math, 6:317–328, 2012, [4]), Goldbach, and next by the whole gallery of the greatest XIX and XX century mathematicians, like Gauss, Cauchy and Riemann. The research subject matter dealing with the harmonic numbers is constantly up-to-date, mostly because of the still unsolved Riemann hypothesis – let us recall that, thanks to J. Lagarias, the Riemann hypothesis is equivalent to some “elementary” inequality for the harmonic numbers (see Lagarias, Amer Math Monthly, 109(6):534–543, 2002, [5]). In paper (Sofo and Cvijovic, Appl Anal Discrete Math, 6:317–328, 2012, [4]) the following relation for the generalized harmonic numbers is introduced

$$H_n^{(r)} := \sum_{k=1}^n \frac{1}{k^r} = \frac{(-1)^{r-1}}{(r-1)!} (\psi^{(r-1)}(n+1) - \psi^{(r-1)}(1)), \quad (1)$$

for positive integers n, r . The main goal of our paper is to derive the generalization of this formula for every $r \in \mathbb{R}, r > 1$. It was important to us to get this generalization in possibly natural way. Thus, we have chosen the approach based on the discussion of the Weyl integral. In the second part of the paper we present the survey of results concerning the Wolstenholme's style congruence for the harmonic numbers. We have to admit that we tried to define the equivalent of the universal divisor (the polynomial, some kind of the special function) for the defined here generalized harmonic numbers.

E. Hetmaniok (✉) · P. Lorenc · M. Pleszczyński · M. Różański · M. Szweda · R. Wituła
Institute of Mathematics, Silesian University of Technology,
Kaszubska 23, 44-100 Gliwice, Poland
e-mail: edyta.Hetmaniok@polsl.pl

M. Pleszczyński
e-mail: Mariusz.Pleszczyński@polsl.pl

© Springer International Publishing AG 2017

A. Babiarz et al. (eds.), *Theory and Applications of Non-integer Order Systems*,
Lecture Notes in Electrical Engineering 407, DOI 10.1007/978-3-319-45474-0_4

Did we succeed? We continue our efforts in this matter, we believe that such universal divisors can be found.

Keywords Harmonic numbers · Weyl integral · Wolstenholme relations

1 New Definition of the Generalized Harmonic Numbers

1.1 The Weyl Integral

One of the possible definition of the fractional derivative is based on the Weyl integral (see [6]) given by formula

$$W^{-\alpha} f(x) = \frac{1}{\Gamma(\alpha)} \int_x^\infty (\xi - x)^{\alpha-1} f(\xi) d\xi, \quad \alpha > 0, \quad x > 0. \quad (2)$$

Moreover we take $W^0 f(x) := f(x)$. If $f(x) = O(x^{-\beta})$ as $x \rightarrow \infty$, then the integral is convergent for $0 < \alpha < \beta$.

Let us present now some properties of the Weyl integral. Assuming the existence of the appropriate integrals, the following equalities hold

$$\begin{aligned} W^{-\alpha} (W^{-\beta} f(x)) &= W^{-\beta} (W^{-\alpha} f(x)), \quad \alpha, \beta > 0, \\ \frac{d^n}{dx^n} (W^{-\alpha} f(x)) &= W^{-\alpha} \left(\frac{d^n f(x)}{dx^n} \right), \quad \alpha > 0, \quad n \in \mathbb{N}, \\ E^n (W^{-\alpha} f(x)) &= W^{-\alpha} (E^n f(x)), \quad \alpha > 0, \quad n \in \mathbb{N}, \end{aligned}$$

where $E f(x) := -\frac{df(x)}{dx}$.

Definition 1 Let f be a function being integrable in any compact interval $I \subset [0, \infty)$ and let $f(x) = O(x^{-\beta})$ as $x \rightarrow \infty$, for some $\beta > 0$. Then for each $\alpha > -\beta$ there exists the Weyl fractional derivative of function $f(x)$ of order α and

$$dW^\alpha f(x) = \begin{cases} W^\alpha f(x), & \alpha < 0, \\ f(x), & \alpha = 0, \\ W^{\alpha - [\alpha]} (E^{[\alpha]} f(x)), & \alpha > 0. \end{cases} \quad (3)$$

Example 1 We determine the Weyl fractional derivative of function e^{-px} , $p > 0$:

$$\begin{aligned} W^{-\alpha} e^{-px} &= \frac{1}{\Gamma(\alpha)} \int_x^\infty (\xi - x)^{\alpha-1} e^{-p\xi} d\xi = \left[\begin{array}{l} \xi - x = u \\ d\xi = du \end{array} \right] \\ &= \frac{1}{\Gamma(\alpha)} e^{-px} \int_0^\infty u^{\alpha-1} e^{-pu} du = p^{-\alpha} e^{-px} \end{aligned}$$

for $\alpha > 0, p > 0$. Hence we obtain

$$dW^\alpha e^{-px} = W^{\alpha - [\alpha]} (E^{[\alpha]} e^{-px}) = W^{\alpha - [\alpha]} (p^{[\alpha]} e^{-px}) = p^\alpha e^{-px}$$

for $\alpha > 0$.

Example 2 Now, we derive the Weyl fractional derivative of function $\frac{1}{x^p}, p > 0$:

$$\begin{aligned} W^{-\alpha} \left(\frac{1}{x^p} \right) &= \frac{1}{\Gamma(\alpha)} \int_x^\infty \frac{(\xi - x)^{\alpha-1}}{\xi^p} d\xi = \frac{1}{\Gamma(\alpha)} \int_x^\infty \frac{(1 - \frac{x}{\xi})^{\alpha-1}}{\xi^{p-\alpha+1}} d\xi \\ &= \left[\begin{matrix} \frac{x}{\xi} = u \\ \frac{x}{\xi^2} d\xi = -du \end{matrix} \right] = \frac{1}{\Gamma(\alpha)} \cdot \frac{1}{x^{p-\alpha}} \int_0^1 (1-u)^{\alpha-1} u^{p-\alpha-1} du \\ &= \frac{B(\alpha, p-\alpha)}{\Gamma(\alpha)} \cdot \frac{1}{x^{p-\alpha}} = \frac{\Gamma(p-\alpha)}{\Gamma(p)} \cdot \frac{1}{x^{p-\alpha}} \end{aligned} \tag{4}$$

for $p > \alpha > 0$, where $B(x, y)$ denotes the beta function. Thus we get

$$\begin{aligned} dW^\alpha \left(\frac{1}{x^p} \right) &= W^{\alpha - [\alpha]} \left(E^{[\alpha]} \left(\frac{1}{x^p} \right) \right) \\ &= W^{\alpha - [\alpha]} \left(\frac{\Gamma(p + [\alpha])}{\Gamma(p)} \cdot \frac{1}{x^{p+[\alpha]}} \right) = \frac{\Gamma(p + \alpha)}{\Gamma(p)} \cdot \frac{1}{x^{p+\alpha}} \end{aligned}$$

for $\alpha > 0, p > 0$.

1.2 Poligamma Functions and Their Modifications

Definition 2 The poligamma function of order m is defined as follows

$$\psi^{(0)}(x) := \psi(x) = \frac{d}{dx} \ln \Gamma(x), \quad \psi^{(m)}(x) := \frac{d^m}{dx^m} \psi(x), \quad m \in \mathbb{N}.$$

This function satisfies the recurrence relation (the basic facts concerning the ψ function, including formulas (5)–(7) are presented in monograph [7]):

$$\psi^{(m)}(x + 1) = \psi^{(m)}(x) + \frac{(-1)^m m!}{x^{m+1}} \tag{5}$$

and from this relation we can get the equality (1). The poligamma function possesses also the integral representation

$$\psi(x) = \int_0^\infty \left(\frac{e^{-t}}{t} - \frac{e^{-xt}}{1 - e^{-t}} \right) dt, \quad \psi^{(m)}(x) = (-1)^{m+1} \int_0^\infty \frac{t^m e^{-xt}}{1 - e^{-t}} dt, \quad x > 0, \tag{6}$$

and can be presented in the form of series

$$\psi(x+1) = -\gamma + \sum_{n=1}^{\infty} \frac{x}{n(n+x)}, \quad \psi^{(m)}(x) = (-1)^{m+1} m! \sum_{n=0}^{\infty} \frac{1}{(x+n)^{m+1}}. \quad (7)$$

Let us define now the modified poligamma functions

$$\psi_*^{(0)}(x) := \psi(x), \quad \psi_*^{(\alpha)}(x) := dW^\alpha(\psi(x)), \quad \alpha > 0. \quad (8)$$

Remark 1 The Weyl integral of function $\psi(x)$ is divergent, whereas for any $\alpha \in (0, 1)$, $m \in \mathbb{N}$ the integral $W^{-\alpha}(\psi^{(m)}(x))$ is convergent, thereby the function

$$\psi_*^{(\beta)}(x) = dW^\beta(\psi(x)) = W^{\beta-\lceil\beta\rceil}(E^{\lceil\beta\rceil}\psi(x)) = (-1)^{\lceil\beta\rceil} W^{\beta-\lceil\beta\rceil}(\psi^{(\lceil\beta\rceil)}(x))$$

is correctly defined for every $\beta > 0$.

By using definitions (8), (3), (2) and formula (4) we can derive the following recurrence relation (which is a generalization of formula (5)):

$$\begin{aligned} \psi_*^{(\alpha)}(x+1) &= dW^\alpha(\psi(x+1)) = dW^\alpha\left(\psi(x) + \frac{1}{x}\right) \\ &= dW^\alpha(\psi(x)) + dW^\alpha\left(\frac{1}{x}\right) = \psi_*^{(\alpha)}(x) + \frac{\Gamma(\alpha+1)}{x^{\alpha+1}}. \end{aligned} \quad (9)$$

Some Representations of the $\psi_*^{(\alpha)}$ Function

First we present the *integral representation of $\psi_*^{(\alpha)}$ function*. Let $m \in \mathbb{N}$, then

$$\psi_*^{(m)}(x) = E^m \psi(x) = (-1)^m \psi^{(m)}(x) = - \int_0^\infty \frac{t^m e^{-xt}}{1 - e^{-t}} dt$$

hence we have

$$\begin{aligned} \psi_*^{(\alpha)}(x) &= W^{\alpha-\lceil\alpha\rceil}(E^{\lceil\alpha\rceil}\psi(x)) \\ &= \frac{1}{\Gamma(\lceil\alpha\rceil - \alpha)} \int_x^\infty (\xi - x)^{\lceil\alpha\rceil - \alpha - 1} \left(- \int_0^\infty \frac{t^{\lceil\alpha\rceil} e^{-\xi t}}{1 - e^{-t}} dt \right) d\xi \\ &= - \int_0^\infty \left(\frac{1}{\Gamma(\lceil\alpha\rceil - \alpha)} \int_x^\infty (\xi - x)^{\lceil\alpha\rceil - \alpha - 1} e^{-\xi t} d\xi \right) \frac{t^{\lceil\alpha\rceil}}{1 - e^{-t}} dt = - \int_0^\infty \frac{t^\alpha e^{-xt}}{1 - e^{-t}} \end{aligned}$$

where $\alpha > 0$.

The series representation of $\psi_*^{(\alpha)}$ function is of the form

$$\begin{aligned} \psi_*^{(m)}(x) &= E^m \psi(x) = (-1)^m \psi^{(m)}(x) = - \sum_{n=0}^{\infty} \frac{m!}{(x+n)^{m+1}}, \quad m \in \mathbb{N}, \\ \psi_*^{(\alpha)}(x) &= W^{\alpha - [\alpha]} (E^{[\alpha]}) \\ &= \frac{1}{\Gamma([\alpha] - \alpha)} \int_x^{\infty} (\xi - x)^{[\alpha] - \alpha - 1} \left(-\Gamma([\alpha] + 1) \sum_{n=0}^{\infty} \frac{1}{(\xi + n)^{[\alpha] + 1}} \right) d\xi \\ &= -\Gamma([\alpha] + 1) \sum_{n=0}^{\infty} \frac{1}{\Gamma([\alpha] - \alpha)} \int_x^{\infty} \frac{(\xi - x)^{[\alpha] - \alpha - 1}}{(\xi + n)^{[\alpha] + 1}} d\xi \\ &= - \sum_{n=0}^{\infty} \frac{\Gamma(\alpha + 1)}{(x + n)^{\alpha + 1}}, \end{aligned} \tag{10}$$

for every $\alpha > 0$. From this relation we get also

$$\psi_*^{(\alpha)}(1) = -\Gamma(\alpha + 1)\zeta(\alpha + 1) \tag{11}$$

for $\alpha > 0$, where $\zeta(\cdot)$ denotes the zeta function.

1.3 Harmonic Numbers of Order $r > 1$

From formula (9) we obtain the following relations

$$\psi_*^{(\alpha)}(k + 1) - \psi_*^{(\alpha)}(k) = \frac{\Gamma(\alpha + 1)}{k^{\alpha + 1}}, \tag{12}$$

$$H_n^{(r)} := \sum_{k=1}^n \frac{1}{k^r} = \frac{1}{\Gamma(r)} (\psi_*^{(r-1)}(n + 1) - \psi_*^{(r-1)}(1)), \quad r > 1. \tag{13}$$

The last formula can be considered as the generalization of formula (1) for $r > 1$. The numbers $H_n^{(r)}$, $n \in \mathbb{N}$, $r \in \mathbb{R}$, $r > 1$ will be called the n -th harmonic numbers of order r .

Moreover, we set

$$H_n^{(r)}(x) := \sum_{k=1}^n \frac{1}{(k + x)^r} = \frac{1}{\Gamma(r)} (\psi_*^{(r-1)}(n + 1 + x) - \psi_*^{(r-1)}(x)). \tag{14}$$

We define also the generalized odd harmonic numbers of order $r > 1$ in the following way

$$O_n^{(r)} := \sum_{k=1}^n \frac{1}{(2k-1)^r} = H_{2n}^{(r)} - \sum_{k=1}^n \frac{1}{(2k)^r} = H_{2n}^{(r)} - \frac{1}{2^r} H_n^{(r)}. \quad (15)$$

Let us note that in paper [8] (see also [9]) the following interesting relation is proven

$$\sum_{k=1}^{\infty} (-1)^{k-1} \left(O_{kn}^{(1)} - O_{kn-n}^{(1)} \right) = \frac{\pi}{2n} \left(\frac{1}{4} (1 - (-1)^n) + \sum_{1 \leq 2k-1 < n} \operatorname{csc} \frac{(2k-1)\pi}{2n} \right).$$

Remark 2 Given here formulas (13)–(15) can be generalized for the complex variable $r \in \mathbb{C}$, $\operatorname{Re} r > 1$. To do this we should analyze the performed above discussion starting with formula (2).

1.4 Selected Identities for the Generalized Harmonic Numbers

We have

$$\sum_{k=1}^n \frac{H_k^{(a)}}{k^b} = \sum_{k=1}^n \frac{\psi_*^{(a-1)}(k+1) - \psi_*^{(a-1)}(1)}{\Gamma(a)k^b} \stackrel{(11)}{=} \sum_{k=1}^n \frac{\psi_*^{(a-1)}(k+1)}{\Gamma(a)k^b} + \zeta(a)H_n^{(b)}$$

for any $a, b > 1$. Hence, if $n \rightarrow \infty$, then we get

$$\begin{aligned} \sum_{k=1}^{\infty} \frac{H_k^{(a)}}{k^b} &= \sum_{k=1}^{\infty} \frac{\psi_*^{(a-1)}(k+1)}{\Gamma(a)k^b} + \zeta(a)\zeta(b) \\ &\stackrel{(10)}{=} \zeta(a)\zeta(b) - \sum_{k=1}^{\infty} \sum_{j=0}^{\infty} \frac{1}{(k+j+1)^a k^b}. \end{aligned} \quad (16)$$

Similarly we can determine the more general sums

$$\begin{aligned} \sum_{k=1}^n \frac{H_k^a H_k^b}{k^c} &= \sum_{k=1}^n \frac{\left(\psi_*^{(a-1)}(k+1) - \psi_*^{(a-1)}(1) \right) \left(\psi_*^{(b-1)}(k+1) - \psi_*^{(b-1)}(1) \right)}{\Gamma(a)\Gamma(b)k^c} \\ &\stackrel{(11)}{=} \sum_{k=1}^n \frac{\psi_*^{(a-1)}(k+1)\psi_*^{(b-1)}(k+1)}{\Gamma(a)\Gamma(b)k^c} + \sum_{k=1}^n \frac{\psi_*^{(a-1)}(k+1)\zeta(a)}{\Gamma(b)k^c} \end{aligned}$$

$$+ \sum_{k=1}^n \frac{\psi_*^{(b-1)}(k+1)\zeta(b)}{\Gamma(a)k^c} + \zeta(a)\zeta(b)H_n^{(c)}$$

for any $a, b, c > 1$. If $n \rightarrow \infty$, then we obtain

$$\begin{aligned} \sum_{k=1}^{\infty} \frac{H_k^a H_k^b}{k^c} &= \sum_{k=1}^{\infty} \frac{\psi_*^{(a-1)}(k+1)\psi_*^{(b-1)}(k+1)}{\Gamma(a)\Gamma(b)k^c} \\ &+ \sum_{k=1}^{\infty} \frac{\psi_*^{(a-1)}(k+1)\zeta(a)}{\Gamma(b)k^c} + \sum_{k=1}^{\infty} \frac{\psi_*^{(b-1)}(k+1)\zeta(b)}{\Gamma(a)k^c} + \zeta(a)\zeta(b)\zeta(c) \end{aligned} \tag{17}$$

$$\stackrel{(10)}{=} \zeta(a)\zeta(b)\zeta(c) + \sum_{k=1}^{\infty} \frac{1}{k^c} \cdot \left(\sum_{j=0}^{\infty} \frac{1}{(k+1+j)^a} \cdot \sum_{j=0}^{\infty} \frac{1}{(k+1+j)^b} \right)$$

$$- \frac{\Gamma(a)\zeta(a)}{\Gamma(b)} \sum_{k=1}^{\infty} \sum_{j=0}^{\infty} \frac{1}{k^c(k+1+j)^a} - \frac{\Gamma(b)\zeta(b)}{\Gamma(a)} \sum_{k=1}^{\infty} \sum_{j=0}^{\infty} \frac{1}{k^c(k+1+j)^b}.$$

Only when $a, b, c \in \mathbb{N}$, then we can give to the right hand sides of formulas (16), (17) the form using the finite sum, for example (see [4, formula (9)]):

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{H_n}{(n+x)^b} &= \frac{(-1)^b}{(b-1)!} \left[(\psi(x) + \gamma)\psi^{(b-1)}(x) - \frac{1}{2}\psi^{(b)}(x) \right. \\ &\left. + \sum_{m=1}^{b-2} \binom{b-2}{m} \psi^{(m)}(x)\psi^{(b-m-1)}(x) \right], \end{aligned}$$

where $b \in \mathbb{N}, b \neq 1, x \in \mathbb{R} \setminus \{-1, -2, -3, \dots\}$.

2 Wolstenholme’s-Type Relations for the Harmonic Numbers and the Generalized Harmonic Numbers

Definition 3 Let $x, y \in \mathbb{Q}$ and $m \in \mathbb{N}$. The numbers x and y are congruent modulo m if their difference can be expressed as a reduced fraction of the form $\frac{mp}{q}$, where $\gcd(q, m) = \gcd(q, p) = 1$. This definition can be written as follows

$$x \equiv y \pmod{m} \Leftrightarrow \exists p, q \in \mathbb{N}: \gcd(q, m) = \gcd(q, p) = 1 \text{ and } |x - y| = m \frac{p}{q}.$$

We will use also the notation $x \equiv_m y$, which is equivalent to $x \equiv y \pmod{m}$.

For example, note that $2 \cdot 4 \equiv 1, \quad 3 \cdot 3 \equiv 2, \quad 6 \cdot 6 \equiv 1 \pmod{7}$, so we get

$$\frac{1}{2} \equiv 4, \quad \frac{1}{4} \equiv 2, \quad \frac{2}{3} \equiv 3, \quad \frac{1}{6} \equiv 6 \pmod{7}.$$

Joseph Wolstenholme in [10] (see also [11, 12]) proved that for $p \in \mathbb{P}$ (where \mathbb{P} denotes the set of all prime numbers), $p \geq 5$, the following congruences hold true

$$H_{p-1} \equiv 0 \pmod{p^2}, \tag{18}$$

$$H_{p-1}^{(2)} \equiv 0 \pmod{p}. \tag{19}$$

We will apply many times this result in the proofs of congruence relations given in the following subsection.

2.1 Our Results – Congruence Relations for the Harmonic Numbers and the Generalized Harmonic Numbers

The following relations hold true

1. For $p \in \mathbb{P}, p \geq 5$, we have $\sum_{k=1}^{p-1} \frac{H_k}{k} \equiv 0 \pmod{p}$.

Proof Let us note that

$$\sum_{k=1}^{p-1} \left(H_k - \frac{1}{k} \right)^2 - \sum_{k=1}^{p-1} H_k^2 - \sum_{k=1}^{p-1} \frac{1}{k^2} \equiv -2 \sum_{k=1}^{p-1} \frac{H_k}{k},$$

since $H_k - \frac{1}{k} = H_{k-1}$ and $H_{p-1}^{(2)} = \sum_{k=1}^{p-1} \frac{1}{k^2}$. Thus we have

$$\sum_{k=1}^{p-2} H_k^2 - \sum_{k=1}^{p-1} H_k^2 - H_{p-1}^{(2)} \equiv -2 \sum_{k=1}^{p-1} \frac{H_k}{k}.$$

Hence we get

$$H_{p-1}^2 + H_{p-1}^{(2)} \equiv 2 \sum_{k=1}^{p-1} \frac{H_k}{k}.$$

From relations (18) and (19) we conclude the thesis.

2. For $p \in \mathbb{P}, p \geq 3$, it holds that $\sum_{k=1}^{p-1} H_k \equiv 1 \pmod{p}$.

Proof We compute

$$\begin{aligned} \sum_{k=1}^{p-1} H_k &= \sum_{k=1}^{p-1} \sum_{n=1}^k \frac{1}{n} = \sum_{n=1}^{p-1} \sum_{k=n}^{p-1} \frac{1}{n} = \sum_{n=1}^{p-1} \frac{p-n}{n} = \sum_{n=1}^{p-1} \left(\frac{p}{n} - 1 \right) \\ &= \left(\sum_{n=1}^{p-1} \frac{p}{n} \right) - (p-1) \equiv_p 1. \end{aligned}$$

3. For $p \in \mathbb{P}$, $p \geq 3$, we have $\sum_{k=1}^{p-1} H_k^2 \equiv p-2 \pmod{p}$.

Proof We execute the following transformations

$$\begin{aligned} \sum_{k=1}^{p-1} H_k^2 &= \sum_{k=1}^{p-1} \left(\sum_{n=1}^k \frac{1}{n} \right)^2 = \sum_{k=1}^{p-1} \sum_{n=1}^k \frac{1}{n^2} + \sum_{k=1}^{p-1} \sum_{1 \leq n < m \leq k} \frac{2}{mn} \\ &= \sum_{n=1}^{p-1} \sum_{k=n}^{p-1} \frac{1}{n^2} + \sum_{k=1}^{p-1} \sum_{n=1}^k \sum_{m=n+1}^k \frac{2}{mn} = \sum_{n=1}^{p-1} \frac{p-n}{n^2} + \sum_{n=1}^{p-1} \sum_{k=n+1}^{p-1} \sum_{m=n+1}^k \frac{2}{mn} \\ &\equiv_p \sum_{n=1}^{p-1} \frac{-1}{n} + \sum_{n=1}^{p-1} \sum_{m=n+1}^{p-1} \frac{2(p-m)}{mn} \stackrel{(18)}{\equiv_p} \sum_{n=1}^{p-1} \sum_{m=n+1}^{p-1} \frac{-2}{n} \\ &\equiv_p \sum_{n=1}^{p-1} \frac{-2(p-1-n)}{n} \equiv_p \sum_{n=1}^{p-1} \left(\frac{2}{n} + 2 \right) \\ &\equiv_p 2H_{p-1} + 2(p-1) \stackrel{(18)}{\equiv_p} -2 \equiv_p p-2. \end{aligned}$$

Corollary 1 Let $\{p_n\}_{n \in \mathbb{N}}$ be a sequence of the successive prime numbers and let $S_n \in \{0, 1, \dots, p_n - 1\}$ be the remainder of dividing the number $\sum_{k=1}^{p_n-1} H_k^2$ by p_n in the sense of Definition 3. Then we have

$$S_n - S_{n-1} = p_n - p_{n-1}$$

for $n \in \mathbb{N}$, $n \geq 3$.

4. For $p \in \mathbb{P}$, $p \geq 5$ we have $\sum_{k=1}^{p-1} H_k^2 \equiv 2(p-1) \pmod{p^2}$.

Proof Proceeding in the same manner as in the proof of item 3 we obtain

$$\begin{aligned}
 \sum_{k=1}^{p-1} H_k^2 &= \sum_{n=1}^{p-1} \frac{p-n}{n^2} + \sum_{n=1}^{p-1} \sum_{m=n+1}^{p-1} \frac{2(p-m)}{mn} \\
 &= pH_{p-1}^{(2)} - H_{p-1} + p \sum_{n=1}^{p-1} \sum_{m=n+1}^{p-1} \frac{2}{mn} - \sum_{n=1}^{p-1} \sum_{m=n+1}^{p-1} \frac{2}{n} \\
 &\stackrel{(18),(19)}{\equiv_{p^2}} 2p \sum_{n=1}^{p-1} \frac{1}{n} (H_{p-1} - H_n) - \sum_{n=1}^{p-1} \frac{2(p-1-n)}{n} \\
 &\equiv_{p^2} 2pH_{p-1}^2 - 2p \sum_{n=1}^{p-1} \frac{H_n}{n} - 2pH_{p-1} + 2H_{p-1} + 2(p-1) \stackrel{1,(18),(19)}{\equiv_{p^2}} 2(p-1).
 \end{aligned}$$

5. For $p \in \mathbb{P}$, $p \geq 3$, it holds $\sum_{k=1}^{p-1} H_k^3 \equiv \begin{cases} 1 \pmod{p} & \text{for } p \in \{3, 5\}, \\ 6 \pmod{p} & \text{for } p \geq 7. \end{cases}$

In this case the proof runs analogically like in items 3 and 4 and it is omitted here.

The following results are just the outcomes of the numerical experiment executed within the range of the initial two hundred prime numbers:

6. For $p \in \mathbb{P}$, $p \geq 7$, it holds $\sum_{k=1}^{p-1} \frac{H_k^2}{k^2} \equiv 0 \pmod{p}$.
7. For $p \in \mathbb{P}$, $p \geq 5$, it holds $\sum_{k=1}^{p-1} \frac{H_k^3}{k} \equiv 0 \pmod{p}$.
8. For $p \in \mathbb{P}$, $p \geq 7$, it holds $\sum_{k=1}^{p-1} \frac{H_k}{k^3} \equiv 0 \pmod{p}$.
9. For $p \in \mathbb{P}$, $p \geq 3$, it holds $\sum_{k=1}^{p-1} \frac{H_k}{k(k+1)} \equiv 0 \pmod{p}$.
10. For $p \in \mathbb{P}$, $p \geq 5$, it holds $\sum_{k=1}^{p-1} \frac{H_k^3}{k(k+1)} \equiv 0 \pmod{p}$.
11. For $p \in \mathbb{P}$, $p \geq 7$, it holds

$$\sum_{k=1}^{p-1} \frac{H_k - H_k^{(2)}}{k^2} \equiv - \sum_{k=1}^{p-1} \frac{H_k^{(2)}}{k} \equiv \sum_{k=1}^{p-2} \frac{H_k}{(k+1)^2} \pmod{p}.$$

At the end let us also present the Maclaurin series expansion of the sum involving the harmonic numbers, in which we are interested in this paper. This expansion reveals the connection between the values of the zeta function for odd positive integers and the harmonic numbers (each coefficient of this expansion possesses this property

which we confirmed numerically for the first twenty coefficients – we present only the first eight coefficients, see also [13]):

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{H_n}{(n+x)^2} &= 2\zeta(3) + \sum_{k=1}^{\infty} \sum_{n=1}^{\infty} \frac{(-1)^k (k+1) H_n}{(n+x)^{k+2}} x^k = \\ &= 2\zeta(3) - \frac{\pi^4 x}{36} + \left(-\frac{1}{2} \pi^2 \zeta(3) + 9\zeta(5) \right) x^2 + \left(-\frac{\pi^6}{135} + 2\zeta(3)^2 \right) x^3 + \\ &+ \left(-\frac{1}{18} \pi^4 \zeta(3) - \frac{5}{6} \pi^2 \zeta(5) + 20\zeta(7) \right) x^4 + \left(-\frac{\pi^8}{700} + 6\zeta(3)\zeta(5) \right) x^5 + \\ &+ \left(-\frac{1}{270} \pi^2 (2\pi^4 \zeta(3) + 21\pi^2 \zeta(5) + 315\zeta(7)) + 35\zeta(9) \right) x^6 + \\ &+ \left(-\frac{2\pi^{10}}{8505} + 4\zeta(5)^2 + 8\zeta(3)\zeta(7) \right) x^7 + \dots \end{aligned}$$

Let us recall that it remains an open problem whether all the numbers $\zeta(2n-1)$, $n \in \mathbb{N}$ are irrational.

Final remark 1 *Some other generalizations of the harmonic numbers are also discussed in literature, for example in papers [14, 15] there are defined and investigated the so called Hyperharmonic numbers. Moreover, see the papers: [16–20].*

References

1. Basu, A.: A new method in the study of Euler sums. *Ramanujan J.* **16**, 7–24 (2008)
2. Borwein, J.M., Bradley, D.M.: Thirty-two Goldbach variations. *Int. J. Number Theory* **2**, 65–103 (2006)
3. Sofo, A.: *Computational Techniques for the Summation of Series*. Kluwer Academic/Plenum Publisher, New York (2003)
4. Sofo, A., Cvijovic, D.: Extensions of Euler harmonic sums. *Appl. Anal. Discrete Math.* **6**, 317–328 (2012)
5. Lagarias, J.C.: An elementary problem equivalent to the Riemann hypothesis. *Amer. Math. Monthly* **109**(6), 534–543 (2002)
6. Miller K.S., Ross B.: *An Introduction to the Fractional Calculus and Fractional Differential Equations*. Wiley-Interscience (1993)
7. Rabsztyń, S., Słota, D., Wituła, R.: *Gamma and Beta Functions*. Silesian University of Technology Press, Gliwice (2012). (in Polish)
8. Wituła, R., Hetmaniok, E., Słota, D.: Generalized Gregory's series. *Appl. Math. Comput.* **237**, 203–216 (2014)
9. Wituła, R., Gawrońska, N., Słota, D., Zielonka, A.: Some generalizations of Gregory's power series and their applications. *J. Appl. Math. Comp. Mech.* **12**, 79–91 (2013)
10. Wolstenholme, J.: On certain properties of prime numbers. *J. Pure Ap. Mat.* **5**, 35–39 (1862)
11. Helou, C., Terjanian, G.: On Wolstenholme's theorem and its converse. *J. Number Theory* **128**, 475–499 (2008)
12. Wituła, R.: On Some Applications of the Formulas for the Sum of Unimodular Complex Numbers. PK JS Press, Gliwice (2011). (in Polish)

13. Srivastava, H.M.: Certain classes of series associated with the Zeta and relates functions. *Appl. Math. Comp.* **141**, 13–49 (2003)
14. Dil A., Kurt V.: Polynomials related to harmonic numbers and evaluation of harmonic number series I. [arXiv:http://arxiv.org/pdf/0912.1834.pdf](http://arxiv.org/pdf/0912.1834.pdf)
15. Dil, A., Kurt, V.: Polynomials related to harmonic numbers and evaluation of harmonic number series II. *Appl. Anal. Discrete Math.* **5**, 212–229 (2011)
16. Sofo, A., Srivastava, H.M.: A family of shifted harmonic sums. *Ramanujan J.* **37**, 89–108 (2015)
17. Sofo, A.: Shifted harmonic sums of order two. *Commun. Korean Math. Soc.* **29**, 239–255 (2014)
18. Sofo, A.: Summation formula involving harmonic numbers. *Anal. Math.* **37**, 51–64 (2011)
19. Schmidt, M.D.: Generalized j -factorial functions, polynomials, and applications. *J. Integer Seq.* **13**(2), 3 (2010)
20. Zheng, D.Y.: Further summation formulae related to generalized harmonic numbers. *J. Math. Anal. Appl.* **335**, 692–706 (2007)